

Reappear Grade Sheet of B_Sc FT_2nd_Semester_October 2020

Sr. No	Reg. No.	Computer Programming				Re	medial M	athematic	s-II	Re	medial M	athematic	s-1			
		FSU031				FSU006					FSU	-001				
		Credit Hours- 4				Credit Hours- 4				Credit Hours- 4				Total Pogistorod	Total Point	Grade Point
		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Average
1	1714301011	B+	4.00	7.00	28.00	Р	4.00	4.00	16.00	Р	4.00	4.00	16.00	12.00	60.00	5.00
2	1714301016	Р	4.00	4.00	16.00		N	A			N	.A		4.00	16.00	4.00

Date of Issue: 10.11.2020

Prepared By

Checked By



Reappear Grade Sheet of B_Sc FT_3rd_Semester_October 2020

			Writing S	eminar-III	[
			FSU	J010					
Sr.	Reg. No.		Credit I	Hours- 3		Total Registered	Total Point	Grade Point	
No	Keg. 110.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Point Average	
1	1714301016	В	3.00	6.00	18.00	3.00	18.00	6.00	

Date of Issue: 10.11.2020

Prepared By

Checked By



Reappear Grade Sheet of B_Sc FT_4th_Semester_October 2020

	Reg. No.	India	n Classical	l Music (V	Vocal)		Basic S	tatistics				
			OE	001			FSU	J012				Grade Point
Sr.			Credit I	Hours- 4			Credit I	Hours- 3		Total Registered	Total Point	
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Point Average
1	1714301010		N	A	-	Р	3.00	4.00	12.00	3.00	12.00	4.00
2	1714301011	A+	4.00	9.00	36.00	С	3.00	5.00	15.00	7.00	51.00	7.29

Date of Issue: 10.11.2020

Prepared By

Checked By



Reappear Grade Sheet of B_Sc FT_5th_Semester_October 2020

	Reg. No.	Fermentation Technology				Food Microbiology				Modern Techniques and Instrumentation				Nutraceutical & Functional Foods						
		CSU006				CSU034				CSU029				ESU009					Total Point	~ .
Sr.		Credit Hours- 4				Credit Hours- 4			Credit Hours- 3				Credit Hours- 3				Total Degistered	Grade Point		
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Average
1	1714301010	В	4.00	6.00	24.00	B+	4.00	7.00	28.00	B+	3.00	7.00	21.00	Р	3.00	4.00	12.00	14.00	85.00	6.07
2	1714301016	N.A				N.A			В	3.00	6.00	18.00	N.A				3.00	18.00	6.00	

Date of Issue: 10.11.2020

Prepared By

Checked By